
Problem No. 3



Dr.                      Liquidator’s Final Statement of Account                     Cr.

Particular / Receipts Rs. Particular / Receipts Rs.

To Bank
To Assets Realised
     Stock & plant                                    42,000                            
     Debtors                                              19,000 

500

61,000

By Liquidator’s Remuneration
2 % on 61,000 (Assets Realised)     1,220
2 % on 13,363                                       267
(Amount Paid to Equity Shareholder)
By Liquidation expenses 
By 9% Debentures                                10,000
+ Interest (1/4/2016 to 30/9/2017)        450
By Unsecured Creditors
By Preference Shareholder                 15,000
+ Dividend unpaid for 1 year                1,200
By Equity Shareholder 
(Rs. 4.45 Per Share)

1,487

2,000

10,450
18,000

16,200

13,363

61,500 61,500

102     : 2
13630 : ?  = 267



Thank u


	Slide 1
	Slide 2
	Slide 3

